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2714 | 43714 | S==Z | HE

Ab1k(171/300~3500) 2,379 1,964 415 | 21.15%
B (171/650~700g) 2,825 2,988 |- 163 | -544%
2(171/1kg) 1,883 1,853 30 1.61%
Hi 2=(1%Z 7| /3kg) 2,858 3,192 |- 334 | -1047%
CHEH(1 |2 /1kg/2HEA) 3,260 2,779 481 | 17.31%
20[(37}) 4,191 2,971 | 1,220 | 41.08%
) K| 07| (=42 AH/6009) 15,169 15410 |- 241 | -157%
St07|(102|/1kg) 7,383 8217 |- 834 | -10.15%
2 07| (=47 He| 2 K] /155/6009) 42,051 38,164 | 3,887 | 10.19%
21 7|(F4t/54/6009) 61,554 | 67,016 |- 5462 | -8.15%
SHZF(1 /T EH/307H) 6,781 7,406 |- 625 | -843%
Z7[(10t2|/=4/15cm) 1,723 1,478 245 | 16.57%
ZX|(10t2] /= 4+/80cm) 5,536 8,531 |- 2,995 | -35.11%
1S0{(18t2]/=4t/30cm) 5,220 3,887 | 1,333 | 34.29%
FHEW(10t2]/2{ A|OF&t/40cm) 4,347 4,247 100 2.35%
Q& 0{(10t2]/3H-5/30cm) 5,367 4912 454 9.25%
M(20kg) 53,971 57,110 |- 3,139 | -5.50%
222 4A/1kg) 3,169 3,348 |- 179 | -5.36%
L1k (1kg) 2,599 2,845 |- 246 | -8.66%
7HOH= (1kg) 12,414 11,920 494 4.15%
UILR (B HE/1kg) 2,011 2,112 |- 101 | -4.76%
21273009/ L A/SEHE) 1,511 1,368 143 | 10.48%
A M%%(1.8L/%7I§ 8410 8521 |- 111 | -130%
1 ;z 7rT(1kg/:?LH*+) 30,676 26,973 3,703 | 13.73%
- EHI S(1kg/=LH4h 11,059 10,409| 650 6.24%
%,*Irmkg/:?LHtf) 3,784 6,019 |- 2,234 | -37.12%
L= (12/5009) 2,339 3,012 |- 673 | -22.36%
2R 1,570 1,740 |- 171 | -9.81%
ZBSH(L) 1,743 1834 |- 91| -497%
52010 1,558 1,574 |- 15| -0.97%
== 2F(1Y 360me/204H) 1,987 1,624 363 | 22.37%
(1™ 500me/A~04 ) 2,133 1,878 255 | 13.57%




